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1. Solve the differential equation 2x“y”-5xy’-4y=0. (10%)
2. Solve the differential equation y” + 4y = 8x°. (15%)
3. Diagonalize the matrix A, where

73 02 -37
A=1_115 10 55 | (10%)

17.7 1.8 -93

4. Let S be the subspace of R* containing all vectors with x; + X, + X3 + X4 = 0 and x; +

X, - X3 - X4 = 0, find a basis for the space of S™. (S = containing all vectors

orthogonal to S). (15%)

5. Find a unit normal vector n of z°=4x*+9y” at the point p:(2,-1,-5).(15%)

6. Describe the region of the following integration and evaluate. (15%)

12X
2
J'O L Xy “dydx
7. Evaluate the integral(counterclockwise). (20%)

jﬁ%z C:z|=2
¢(z°-12)




